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1.3 204)
Three goods. We are given a Walrasian demand function # with the following values
* At prices p' = (2,1, 2) and wealth 8, Z(p?, 8) = 1,2,2)=x
* At prices p2= (2,2, 1) and wealth 8, %(p? 8) =(2,1,2)=x
* At prices p3= (1, 2, 2) and wealth 8, X (3, 8)= (2,2, 1)=x°
1.1. Is x! revealed preferred to x?? [s x? revealed preferred to x1? (34
Is x! revealed preferred to x8? Is x8 revealed preferred to x'7 (3 57)
Is x2 revealed prefesred to x8? Is x® revealed preferredto.x*? (3 77)
1.2. Is the weak axiom of revealed preference violated by these choices? (5 '47)
1.3. Is the “revealed preferred to” relation transitive in these choices? Comment. (6 77)
2. G 157)
Suppose firm C and firm D operate under ccmdiﬁons of constant average and marginal cost, but that

MC,= 8,MC, = 6 The inverse demand function a firm face is given by
P =30—Q/18
a. If the firms practice Bertrand competition, what will be the market price under a Nash
equilibrium? (6 77)
b. What will the profits be for each firm? (6 57)
c. Will this equilibrium be Pareto efficient? (3 77)

3. G154
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(1) BEETEDEYYEEE (Adverse Selection) © (5 47)
(2) REmE LeVEERREE Moral Hazard) < (5 47)
(3) HEHHBFHSHRER (Signaling) © (5 77)

o | T OMEERREEE AFHH
= HBRFHEAEAHR -




LHEAFE (04 PEEATERLLRRA

FOF  AOK
% # g | EHE pioa| BEEVRIT ewmm) s e (2838
Ay1y,A3bY

, AR ADREREE  EARARTRA LSRN RS (Buropean Central Bank,
:HB)fﬁﬁﬁ*@hmDm@)%Aﬁlﬁ228%$&3Hﬁ%ﬂ%§&m%z
lméﬁéﬁ&&mﬁﬁﬁﬁ BE > H3 2016 &9 A4y o

4. HFRMTERRB4E? &K T4 B RE? (5 points)
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6. HARAIMBRES - SEHE LS th— BERFTHHB AR E BRI T
BEAEY GDP - FHAL BLBERREHOMBEGEE  HBas RGEHE
DHBERENS] S8 98%) EHKE Lhof? (20 points)
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